Warm-up Lesson 4-4

What does "CPCTC" stand for?
¢ w«spud»? P by G@cw\«* As R =

the dlagram for Exercises 2 and 3.
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2. Tell how you would show AABM = MCM.A S 9“ ’(\bs

3. Tell what other parts are congruent by CPCTC. l' _

RERS, Gastm, LCTLB @» Tl
Use the diagram for Exercises 4 and 5. '5 /
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4. Tell how you would show ARUQ = ATUS

5. Tell what other parts are co by € ;
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Anatomy of an Isosceles A

Legs’

VertexZ

Base

1
¥

Given

Prove

~ Base Z's
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Given XY =~ X7

Prove LY =/LZ

Construct XD bisecting /YXZ

XY = XZ given
/1 =/2 defn angle bisector
XB = XB refl POC Y
AXYD =~ AXZD SAS
/Y =/Z CPCTC

QED

Thm 4-3 [Isosceles Triangle Theorem

If 2 sides of a A are =~

then the angles opposite those sides are ~.
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Thm 4-3

Isosceles Triangle Theorem

If 2 sides of a A are =~

then the angles opposite those sides are ~.
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Thm 4-3

LY A T
Isosceles Triangle Theorem

If 2 sides of a A are =~

then the angles opposite those sides are ~.
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Thm 4-4

Conv of Isosceles A Thm

If 2 angles of a A are ~

then the sides opposite those angles are ~.

Thm 4-4

X

Conv of Isosceles A Thm

If 2 angles of a A are ~

then the sides opposite those angles are ~.
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Thm 4-4

Conv of Isosceles A Thm

If 2 angles of a A are ~

Y A
then the sides opposite those angles are ~. /PJ(\AJQV
X b WS
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Thm 4-5

Isosceles A Bisector Thm

The bisector of the vertex angle of an isosceles A

is the J_bisector of the base.

X
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Teos A Bs Thn

Thm 4-5 |Isosceles A Bisector Thm

The bisector of the vertex angle of an isosceles A

is the J_ bisector of the base.

Thm 4-5 |Isosceles A Bisector Thm

The bisector of the vertex angle of an isosceles A

is the J_bisector of the base.

XB =Y/

YB ~ /B




Corollary to Thm 4-3

... err, what's a corollary ? ? ?

A simple statement that follows immediately from a theorem.

Corollary to Thm 4-3

If a A is equilateral then it is equiangular
Given: XY =~ YZ =~ XZ

Prove: /x=/v=~/7
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Corollary to Thm 4-4

If a A is equiangular then it is equilateral
Given:/x=/Lvy=/7

M3E;ﬁ;ﬁ
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| Examplel

1 What kind of A is this?

o O @ >

Equiangular
Scalene Ir
Isosceles

none of the above

| Examplel

- MK poyer

2 How do you know?

m o O W >»

-

Thm 4-1
Thm 4-2 "31” -
&
Thm 4-3
Thm 4-4
Thm 4-5

none of the above
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Example

1) What type of A is this?

A
B
C
D

Equiangular
Scalene

Isosceles

none of the above

2) How do you know?

A

mMMmoOoO W

Thm 4-1
Thm 4-2
Thm 4-3
Thm 4-4
Thm 4-5
none of the above

3) What is the value of x?

back
El
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Ayt pegl

1 What is the value of §?

A

Example

1) What is the value of 7?

2) What is the value of s?
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Example

1 What is the value of X?
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Example

1) What is the value of x?

2) What is the value of y?

_back

L4-5 HW Problems

Pg 213 #1, 2, 7-18,
21-26, 31,
34-38,
40, 41,
46-50

18



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18

